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16. Filtered white noise

Gx (?) = Ne

‘\L
. >

]
Rule)= F1 7§ 6.

s

j2nfr

»
Rx (1) < f ve Jf .

g L

Page 9 of 13



EECS 4214 Assignment 2 Solutions

17. BPF’d noise

éx(@) = A Y
w (2)
1 H(w) & Ff ”’a.r 1R¢ponse.
] e V3
‘ = I m‘? 4
—4d, (“)c= 2

Gy@) = (Kl 6xb)
Sinca H(O) =0 <l&wly X & comPowﬂt-‘O

i Gl e A s A Zet

arouné’ e >> B/

flte  2Gyln.) xz_if B fw-wcl<i.

OU?

avs. oulpot poss  Ef ¢t 2.;(‘ ADIN

=1 .2- BB . A
pas AT Zx
= ﬂzs

(2n)

18.34

&=Q(;2%=<9i¥iu

2 8s

- Q) = 0. 587

Page 10 of 13

Fall 2015



EECS 4214 Assignment 2 Solutions Fall 2015

19.3.5

= Q ,/77/_{?.:') L= AT fo 4/'/00/«V s'/'gm_//f'nj
1 A=l . E-T

=3

o< Qx) < lo

X=Bé.=aﬁ
N:

_E_L.: ‘/‘7'? ) A_io_ :/0_3 (jlivw,\)
N -

EL- T= 472 %07°x

Q<L.£.b¢9@x
—

20.3.6
&) HE )= PCS,,) S OLs

(2]s,) 2 PFls)
F;(Z:ISL) 5:. P(s, 5 / OH'

for P(s, )= P(s)  fo© +°'z 2 T2ED 0

Page 11 of 13



EECS 4214 Assignment 2 Solutions Fall 2015

L) P, )=6.7 = pls.)z03
US:"\Aj KNI

‘Z:(q;"a?—) é’, /n )D(Sz)
Eo- Hx P(S,j

/f
2 2 6: /mf&)/@

H?' d,—ﬁz P[SI

0‘01 /M/

= -0.04

/

) X ( _004

J) PF'MGP A ron t~0La\L / }
Ew“ J«MS!'M P%L-o&shoP& to the wonre

[&I FoSs:L { ("’o ?‘?xﬁ:ﬁ’;&, l/taPpa.M

IV\ ‘Hzo.. Fnrﬂ" rlaw)

Page 12 of 13



EECS 4214 Assignment 2 Solutions

21.3.7
] pels.) | plels) |
7
. 2(T,
19 -) —e2 ‘oz, ! /.2 )
P@ = P(S )f o'% + P(S},)(
:'[..L&:lo - 0.l - 0.1
5 ~0-2 <
22.3.8

&) 16 lvals = M= 2% k= ‘{Li{s/symLol

Ras R . 1o Mbss = 25 Mepuleb/,
'Oﬁ;” L’B/S’)M

min Bh/= R/2 = 1.25 Ml
G) USI‘V\(‘ 25h. 3.90 VE (I‘I’ r‘){s

Fall 2015

325 MHe = (l+r) - .25 Mie

Y‘:O-’

Page 13 of 13



